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dqy iz’uksa dh la[;k % 26            dqy i`"Bksa dh la[;k % 11 

Total No. of Questions : 26  Total No. of Pages : 11 

211 
fo"k; %fo"k; %fo"k; %fo"k; %    xf.krxf.krxf.krxf.kr    

Subject : MATHEMATICS 

le; % 03 ?k.Vs  iw.kk±d % 100 

Time : 03 Hours  Maximum Marks : 100 

 

funsZ’k%& funsZ’k%& funsZ’k%& funsZ’k%&     

    (i) lHkhlHkhlHkhlHkh        iz’u vfuok;Ziz’u vfuok;Ziz’u vfuok;Ziz’u vfuok;Z    gSaAgSaAgSaAgSaA    

    (ii) iz’ui= esa fn, x, funsZ’k lko/kkuhiwoZd i<+dj iz’uksa ds mŸkj fyf[k,Aiz’ui= esa fn, x, funsZ’k lko/kkuhiwoZd i<+dj iz’uksa ds mŸkj fyf[k,Aiz’ui= esa fn, x, funsZ’k lko/kkuhiwoZd i<+dj iz’uksa ds mŸkj fyf[k,Aiz’ui= esa fn, x, funsZ’k lko/kkuhiwoZd i<+dj iz’uksa ds mŸkj fyf[k,A    

 (iii) iz’ui= esa nks [k.M fn, x, gSa [k.M ^v* vkSj [k.M ^c*Aiz’ui= esa nks [k.M fn, x, gSa [k.M ^v* vkSj [k.M ^c*Aiz’ui= esa nks [k.M fn, x, gSa [k.M ^v* vkSj [k.M ^c*Aiz’ui= esa nks [k.M fn, x, gSa [k.M ^v* vkSj [k.M ^c*A 

 (iv)        [k.M ^v* esa fn, x, iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;s iz’u 5 vad dk  [k.M ^v* esa fn, x, iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;s iz’u 5 vad dk  [k.M ^v* esa fn, x, iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;s iz’u 5 vad dk  [k.M ^v* esa fn, x, iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;s iz’u 5 vad dk  

gSAgSAgSAgSA    

    (v) [k.M ^c* esa iz[k.M ^c* esa iz[k.M ^c* esa iz[k.M ^c* esa iz’u Øekad 6 ls 26 rd vkarfjd fodYi fn, x, gSaA’u Øekad 6 ls 26 rd vkarfjd fodYi fn, x, gSaA’u Øekad 6 ls 26 rd vkarfjd fodYi fn, x, gSaA’u Øekad 6 ls 26 rd vkarfjd fodYi fn, x, gSaA    

 (vi) iz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSA 

 (vii)    iz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSA    

    (viii) iz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSA     

 (ix) iz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSA    

Instructions:- 

  (I) All questions are compulsory.    

 (ii)  Read instructions carefully of the question paper and then write answer of the 

questions. 

 (iii) Question paper has two sections- Section ‘A’ and Section ‘B’ 

 (iv) In the section ‘A’ Question Nos.1 to 5 are objective types. Each question carries 5 

marks. 

 (v) In the section ‘B’ Question Nos. 6 to 26 has internal option. 

 (vi) Q. Nos. 6 to 10 carries 2 marks each  

 (vii) Q. Nos. 11 to 14 carries 3 marks each 

 (viii) Q. Nos. 15 to 21 carries 4 marks each 

 (ix) Q. Nos. 22 to 26 carries 5 marks each  
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[k.M & v[k.M & v[k.M & v[k.M & v    

SECTION – A 

iz-1 lgh fodYi pqudj fyf[k,&        ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Choose the correct option-  

 (i) 3 27 dk eku gksxk&   

  ¼v½ 2       ¼c½ 3  

  ¼l½ 5       ¼n½ 9  

  The value of 3 27  is- 

  (a) 2       (b) 3  

  (c) 5       (d) 9  

  (ii) oxZ lehdj.k x2 + 5 x + 6 = 0 ds ewyksa dk ;ksxQy gksxk&  

  ¼v½ 
1

5−
       ¼c½ 

1

5+
  

  ¼l½ 
5

1
       ¼n½ 

5

1−
  

  The sum of Roots of Quadratic equation x2 + 5 x + 6 = 0 is- 

  (a) 
1

5−
       (b) 

1

5+
  

  (c) 
5

1
       (d) 

5

1−
  

 (iii) fcUnq ¼&2] 5½ fuEu esa ls fdl prqFkkZ’k es fLFkr gS\   

  ¼v½ izFke       ¼c½ f}rh;  

  ¼l½ r`rh;       ¼n½ prqFkZ   

  In which quadrant the point (-2, 5) lies? 

  (a) First       (b) Second  

  (c) Third       (d) Fourth 
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 (iv) 200 `dk 5 o"kZ dk 10% ljy C;kt dh nj ls C;kt gksxk&   

  ¼v½ 100 `      ¼c½ 150 `  

  ¼l½ 200 `      ¼n½ 250 `  

  The interest of amount 200 ` at 10% Rate of simple interest for 5 year is-  

  (a) 100 `       (b) 150 `  

  (c) 200 `      (d) 250 `  

 (v) o`Ÿk ds {ks=Qy dk lw= gS&    

  ¼v½ π r       ¼c½ π
2r  

  ¼l½ π r2       ¼n½ 2πr  

  Formula for the area of circle is- 

  (a) π r       (b) π
2r  

  (c) π r2       (d) 2πr   

iz-2 fjDr LFkkuksa dh iwfrZ dhft,&                                            ¼1¼1¼1¼1××××5555====5½5½5½5½   

 Fill in the blanks- 

 (i) cgqinksa 12x3 – 3y2        o 3x2 + 2y2    dk ;ksx gksxk ------------------------------------  

  The sum of polynomials 12x3 – 3y2  and  3x2 + 2y2 is …………….. 

 (ii) ,d prqHkqZt ds rhu dks.k Øe’k% 108°] 75°] 83° gS] rc pkSFks dks.k dk eki gksxk--------------- 

  If three angles of a Quadrilateral are 108°, 75°, 83°, then the measure of the fourth angle 

is…………………… 

 (iii) ,d oxZ dh ifjeki 4a gSA bldh ,d Hkqtk dh yEckbZ gS-------------------------------- 

  The perimeter of square is 4a. The length of one side of square is……………….. 

 (iv) 3 3    3 9 × dk eku gksxk-------------------------------A 

  The value of 3 3    3 9 ×  is……………………….. 

 (v) ;fn fdlh lef}ckgq f=Hkqt ds leku dks.k 50° ds gS] rks mlds vleku dks.k dh eki 

gksxh------------------------------A 

  If the equal angles of an isosceles triangle are 50° each, then its unequal angle is……… 
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iz-3 lgh tksM+h cukb,%                                                         ¼1¼1¼1¼1××××5555====5½5½5½5½    

 Match the correct Pair: 

  ^v* ‘A’      ^c* ‘B’ 

 (i) sin (90 - θ)     (a) i    
f Σ

fx Σ
    

1
×+l   

 (ii) cos (90 - θ)     (b) cos θ 

 (iii) tan (90 - θ)     (c) 
( )

( ) ( )
12

201

01

1
 -     

f - f - 2f

f - f

    lll ×+    

 (iv) lekUrj ek/; (Arithmetic mean) (d) sin θ 

 (v) cgqyd (Mode)    (e) cot θ  

iz-4 fuEufyf[kr dFkuksa esa lR;@vlR; fyf[k,&                                 ¼1¼1¼1¼1××××5555====5½5½5½5½    

 Write true / false in following statements- 

 (i) lehdj.k x + 2y = 5 es ;fn x = 1 gks] rks y dk eku 2 gksxkA 

  In equation x + 2y = 5, if x = 1 then y will be equal to 2. 

 (ii) nks vuqikrksa dh lekurk dks lekuqikr dgrs gSaA 

  The similarity of two ratios is called proportion. 

 (iii) vk¡dM+ksa ds vkSlr eku dks ek/; dgrs gSaA 

  The average of data is called as mean. 

 (iv) v)Zo`Ÿk ij cuk dks.k nks ledks.k gksrk gSA 

  The angle of a semicircle is always equal to two right angles. 

 (v) 1 + cot2 θ = cosec2 θ gSA 

  The value of 1 + cot2 θ = cosec2 θ. 
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iz-5 ,d 'kCn@okD; esa mŸkj nhft,&                                            ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 (i) ,slk lehdj.k ftldk vkys[k ,d ljy js[kk gksrh gS] mls D;k dgrs gSa\ 

  The equation for which the graph is a straight line is called as…………. 

 (ii) 9 % 25 dk oxkZuqikr D;k gS\ 

  What will be the duplicate ratio of 9 : 25? 

 (iii) izFke ik¡p la[;kvksa dk lekUrj ek/; gksrk gS\ 

  What is the Arithmetic mean of first five natural numbers? 

 (iv) fdlh ?kVuk ds fuf’pr ?kfVr gksus dh izkf;drk dk D;k eku gksrk gS\ 

  What is the probability of happening of a certain event? 

 (v) pØh; prqHkqZt es ,d dks.k dk eku 100° gS] rks blds lEeq[k dks.k dk eku fdruk 

gksxk\ 

  In a cyclic quadrilateral, if one angle is 100°, then what will be its opposite angle? 

[k.M & c[k.M & c[k.M & c[k.M & c    

SECTION – B 

iz-6  
811

5

7
    

5

7








÷







 dk eku Kkr dhft, ¼2½¼2½¼2½¼2½ 

 Find the value of 

811

5

7
    

5

7








÷








 

vFkokvFkokvFkokvFkok@@@@OR 

 

2
3

3

1



















 dk eku Kkr dhft,A 

 Find the value of 

2
3

3

1




















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iz-7 ;fn 6 % 10 % % x % 25 gks rks x dk eku Kkr dhft,A ¼2½¼2½¼2½¼2½ 

 If 6 : 10 : : x : 25, then find the value of x. 

vFkvFkvFkvFkokokokok@@@@OR 

 4] 10 dk r`rh;kuqikr Kkr dhft,A 

 Find the third proportion of 4, 10. 

iz-8 ,d f=Hkqt dk ,d dks.k 30° rFkk nwljk dks.k 60° gS] rks rhljk dks.k Kkr dhft,A ¼2½¼2½¼2½¼2½    

 In a triangle, if one angle is 30° and second angle is 60°, then find the value of third angle.  

vFkokvFkokvFkokvFkok@@@@OR 

 ,d f=Hkqt ds dks.kksa dk vuqikr 2 % 3 % 5 gS rks f=Hkqt ds dks.k Kkr dhft,A 

 In a triangle, the ratio of angle is 2 : 3 : 5, then find the angles of the triangle. 

iz-9 ;fn sin θ = 20 / 29 gks rks cos θ vkSj tan θ dk eku Kkr dhft,A ¼2½¼2½¼2½¼2½    

 If sin θ = 20 / 29, then find the value of cos θ and tan θ. 

vFkokvFkokvFkokvFkok@@@@OR 

 ;fn cot B = 5 / 4 gks rks fl) dhft, fd cosec2 B = 1 + cot2 B. 

 If cot B = 5 / 4, then prove that cosec2 B = 1 + cot2 B. 

iz-10 izFke 5 fo"ke la[;kvksa dk ek/; Kkr dhft,A ¼2½¼2½¼2½¼2½    

 Find the Arithmetic mean of first five odd numbers. 

vFkokvFkokvFkokvFkok@@@@OR 

 15] 25] 18] 16] 25] 19] 18] 25] 16] 19] 25] dk cgqyd Kkr dhft,A 

 Find the mode of 15, 25, 18, 16, 25, 19, 18, 25, 16, 19, 25. 

iz-11 xq.ku[kaM dhft,  %&   x2 + 9x + 20 ¼3¼3¼3¼3½½½½    

 Factorize  :-   x2 + 9x + 20 

vFkokvFkokvFkokvFkok@@@@OR 

 gy dhft,  %&  8 (x + 1) = 16 

 Solve    :-   8 (x + 1) = 16 
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iz-12 ;fn 
5

2
    

b 4  a 3

b 4 - a 3
=

+
 gks rks a : b dk eku Kkr dhft,A ¼3¼3¼3¼3½½½½    

 If  
5

2
    

b 4  a 3

b 4 - a 3
=

+
 , then find the ratio between a and b. 

vFkokvFkokvFkokvFkok@@@@OR 

 nks la[;kvksa dk vuqikr 11 % 16 gS] buesa D;k tksM+sa fd ;g vuqikr 3 % 4 gks tk,\ 

 The ratio between two numbers is 11 : 16 then what should be added to make the ratio 3 : 4? 

iz-13 Kkr dhft, %& 440 dk 15% ¼3¼3¼3¼3½½½½    

 Evaluate :- 15% of 440 

vFkokvFkokvFkokvFkok@@@@OR 

 240 dk fdruk izfr’kr 96 gksxk\ 

 What percent of 240 is 96? 

iz-14 ¼3] 2½ rFkk ¼11] 8½ ds chp dh nwjh Kkr dhft,A ¼3¼3¼3¼3½½½½    

 Find the distance between (3, 2) and (11, 8). 

vFkokvFkokvFkokvFkok@@@@OR 

 fn[kkb, fd fcUnq ¼1] 1½] ¼3] 0½ rFkk ¼&1] 2½ lajs[k gSA 

 Show that the points (1, 1), (3, 0) and (-1, 2) are collinear. 

iz-15 ,d f=Hkqt ds ifjxr o`Ÿk dh jpuk dhft, ftlesa BC = 6cm, ∠B = 55° ,oa ∠C = 70°A jpuk 

ds in Hkh fyf[k,A  ¼4½¼4½¼4½¼4½    

 Construct the circum circle of the triangle, whose one side BC = 6cm, ∠B = 55° and ∠C = 70°. 

Also write steps of construction. 

vFkokvFkokvFkokvFkok@@@@OR 

 ∆ABC ds vUr% o`Ÿk dh jpuk dhft,] tgk¡ AB = 4 cm, BC = 5 cm rFkk AC = 6 cmA jpuk ds 

in Hkh fyf[k,A 

 Construct the incircle of a triangle whose sides AB = 4 cm, BC = 5 cm and AC = 6 cm. Also 

write steps of construction. 
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iz-16 1200 `ij 5% C;kt dh nj ls 4 o"kks± dk pØo`f) C;kt vkSj feJ/ku fudkfy,A ¼4½¼4½¼4½¼4½    

 Find the compound interest and amount for ` 1200 at the rate of 5% per annum interest for 4 

years. 

vFkokvFkokvFkokvFkok@@@@OR 

 2000 :i;s ij 3 o"kZ ds fy, 5% dh nj ls lk/kkj.k ,oa pØo`f) C;kt dk vUrj Kkr 

dhft,A 

 Find the difference between compound interest and simple interest for ` 2000 at the rate of 

5% per annum interest for 3 years. 

iz-17 lehdj.k gy dhft, ¼foyksiu fof/k½ ¼4½¼4½¼4½¼4½    

 3x + 2y = 11 

 2x + 3y = 4 

 Solve the equation by elimination method: 

 3x + 2y = 11 

 2x + 3y = 4 

vFkokvFkokvFkokvFkok@@@@OR 

 ljy dhft,%& 

 
1 -x 

2 -x 
    

1 -x 

2 x 
+

+
 

 Simplify :- 

 
1 -x 

2 -x 
    

1 -x 

2 x 
+

+
 

iz-18 ,d ?kukHk dh yEckbZ] pkSMk+bZ vkSj Å¡pkbZ Øe’k% 12cm, 11cm rFkk 10cm gSA rks ?kukHk dk 

i`"Bh; {ks=Qy Kkr dhft,A ¼4½¼4½¼4½¼4½    

 If the length, breadth and height of a cuboid is 12cm, 11cm and 10cm, then find the surface 

area of cuboid.  

vFkokvFkokvFkokvFkok@@@@OR 

 ,d ?ku dh dksj 6cm gS rks ?ku dk lEiw.kZ i`"B Kkr dhft,A 

 If the edge of the cube is 6cm, then find its surface area. 
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iz-19 fl) dhft, %& ¼4½¼4½¼4½¼4½    

 sin 60° = 2 sin 30° cos 30° 

 Prove that:- 

 sin 60° = 2 sin 30° cos 30° 

vFkokvFkokvFkokvFkok@@@@OR 

 fl) dhft, %& 

 °=
+

°°
30   tan    

30 tan 60 tan  1

30 tan - 60tan 
 

 Prove that :- 

 °=
+

°°
30   tan    

30 tan 60 tan  1

30 tan - 60tan 
 

iz-20 fuEu lkj.kh ls iz’uksa ds mŸkj nhft, & ¼4½¼4½¼4½¼4½    

 Give answer from the following table 

oxZ (Class) 15&20 20&25 25&30 30&35 35&40 

ckjEckjrk 

(frequency 

2 3 5 7 4 

  

 (i) izFke oxZ dh fuEu oxZ lhek fyf[k,A 

  Write lowest limit of initial (first) class 

 (ii) oxZ varjky Kkr dhft,A 

  Find the class interval. 

 (iii) lap;h ckjEckjrk lkj.kh crkb,A 

  Find the cumulative frequency for given table. 

vFkokvFkokvFkokvFkok@@@@OR 

  cgqyd Kkr dhft,%& 

  8] 10] 15] 10] 12] 8] 15] 10] 8] 10] 12] 13 

  Find the value of mode:- 

  8, 10, 15, 10, 12, 8, 15, 10, 8, 10, 12, 13 
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iz-21 ,d ik¡ls dks Qsadus ij 4 ls vf/kd vad vkus dh izkf;drk Kkr dhft,A ¼4½¼4½¼4½¼4½    

 In a single throw of a dice, find the probability of getting more than 4. 

vFkokvFkokvFkokvFkok@@@@OR 

 nks flDdksa dks ,d lkFk mNkyus ij de ls de ,d fpŸk Åij vkus dh izkf;drk Kkr 

dhft,A 

 If two coins are tossed simultaneously then what is the probability of getting at least one Head. 

iz-22 lehdj.k x2 + 4x + 3 = 0 dks lw= fof/k ls gy dhft,A ¼5½¼5½¼5½¼5½    

 Solve the equation x2 + 4x + 3 = 0 by using formula method. 

vFkokvFkokvFkokvFkok@@@@OR 

 ;fn fdlh lehdj.k ds ewy 52   5,  gks rks lehdj.k Kkr dhft,A 

 If the roots of an equation are 52 and   5, , then find the equation.  

iz-23 ,d f=Hkqt ds 'kh"kks± ds funsZ’kkad ¼3] &1½] ¼10] 7½ rFkk ¼5] 3½ gSa] rks f=Hkqt ds dsUæd ds 

funsZ’kkad Kkr dhft,A  ¼5½¼5½¼5½¼5½    

 Find the coordinate of the centroid of the tringle whose vertices are (3, -1) (10, 7) and (5, 3). 

vFkokvFkokvFkokvFkok@@@@OR 

 fcUnqvksa ¼&7] 0½ rFkk ¼0] 10½ dks feykus okys js[kk[kaM ds e/; fcUnqvksa ds funsZ’kkad Kkr 

dhft,A 

 Find the mid point of the line joining the points (-7, 0) and (0, 10). 

iz-24 3-5 lseh- f=T;k ds o`Ÿk dh ifjf/k rFkk {ks=Qy Kkr dhft,A ¼5½¼5½¼5½¼5½    

 Find the circumference and area of a circle whose radius is 3.5 cm. 

vFkokvFkokvFkokvFkok@@@@OR 

 fdlh ?ku dk i"̀B {ks=Qy 96 oxZ lseh gSA mldk vk;ru Kkr dhft,A 

 If the surface area of a cube is 96 cm2 , then find its volume. 
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iz-25 ;fn θ = 30°] rks fl) dhft, fd& ¼5½¼5½¼5½¼5½    

 
θ  tan- 1

θ tan 2
    θ 2tan 

2
=  

 If θ = 30°, then prove that- 

 
θ  tan- 1

θ tan 2
    θ 2tan 

2
=  

vFkokvFkokvFkokvFkok@@@@OR 

 ,d ehukj ds vk/kkj ls 50m dh nwjh ij ,d fcUnq ls ehukj dh pksVh dk mUu;u dks.k 45° 

dk gSA ehukj dh Å¡pkbZ Kkr dhft,A 

 The angle of elevation of a point situated at a distance 50m from the base of a tower is 45°. 

Find the height of tower.   

iz-26 fuEu rkfydk ls lekUrj ek/; dh x.kuk dhft,% ¼5½¼5½¼5½¼5½ 

 Calculate the arithmetic mean of following table:  

Marks ¼izkIrkad½ 0&10 10&20 20&30 30&40 40&50 

No. of students 

¼fo|kfFkZ;ksa dh la[;k½ 
5 3 4 3 3 

 

 vFkokvFkokvFkokvFkok@@@@OR 

 fuEu vk¡dM+ksa dh ef/;dk Kkr dhft,% 

 Find the median for the following data: 

 38, 70, 48, 34, 42, 55, 63, 46, 54, 44 

 

---------------------------------- 


